R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 Insert Glazed\TX-4166-67.dwg, TX-4166

"Endura

PERFORMANCE STANDARD

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
Inferational Residential Code (IRC), Sections R301 & R609 and the 2018
International Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS
SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Door panel details (lip lite insert glazing)
3 Slidelte panel details (lip lite insert glazing)
4 Horizontal cross sections
5 Vertical cross sections
é Vertical cross sections
7 Frame anchoring

OXO

INSWING

+40.0

OXO

OUTSWING

+45.0

~OCSNY, ui
Ao, 8 y
.:?’**:E' QR
:v‘b,-""; — I, J; 0
FaX" 151 g8, Bu
=l S EL a 49
:;r\:- O Im 5 .In Ze
I ﬁ’?’ww nu M a7
Her oo 5 .2 Z Z.
p' : L [ -d.g ]
{)‘Q_ 4D 5 L 8q ZZ
g, iSE EF E£B 99
HO et L k) 5 ©
22;{;‘*5?_}: ?‘?\3&“ §22 @E
TLEVR IS, © gW0
ARNRLRE e, 5 8%. g
x 2 ox
o] %oz L
£ §%e 95
" =l . [}
112.25" MAX. OVERALL § 2 2 r.‘.::c_' 4=
FRAME WIDTH o 85
2 § L
6 &
E @< 3]
3 =
o
o
// ,/ // m
=Z =
/ / / L'QJJ
&
9 gL
© £ S P
Z 5= o =
< == = S U
HZ 00 o
T O X e 9 28
Ok X . 1S
A= " g = e S3
<LLI - = hy hLlJ
=T T a =
=z Nu_] (1 <C o
= - = a o
© 2 5=
& %)
g Al

OPTION &

UPDATE TO 2018 IBC/IRC CODE
REVISIONS

9/16/19 |ADD "FusionFrame”

11/07/18|REVISED TO INSERT GLAZED ONLY [LFS
10/25/16|ADDED THRESHOLDS/REVISED DP

11/26/13|ADDED ARTICULATING SILL

NO.| DATE

4
3
2
1

DATE: 7/03/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4166

SHEeT 1 oF 7




td
ALY ot
oyl Do 0 oo
=2 SOl Ex o B
STILE STILE g? Sy g8 5T
[WOOD COMP.) 2.09" —=| INTERIOR [WOOD COMP.) TOP RALL Gt %}{ ce 2Ly B
o i -
l D, . (WOOD COMP.) | 5O P § o2 3,
4 * 11 H oo
=il Il = D : ¢ Sxtp 22
f N i:! . & (‘::‘2,;.“ : = > é-’fs @g
t§5 . 2 - / NI p -2
= = = t y : £ZQm O ¥
R \\ | U8 S 3 ‘;‘ / By x gn. &o
= § S Z % iyl & %8 &y
YN 7 I P
y { I N & 505 fu
= ] Bok St
o o3
16" - 1.6" 2 § o
EXTERIOR FIBERGLASS SKIN 5 gg
oK BLOCK (0075 MIN) E SSL
[+
{12.0" HIGH) | | ; °
1"\ HORIZONTAL CROSS SECTION _
2 [©)
5o
o
<C —
35.75" MAX. g |y of
PANEL WIDTH S |3 §£
Ly (7Y
) #6 X 1-1/2" PH SMS Ml 2l x
21" MAX INTERIOR EXTERIOR - o 82
(@] 1
2 INTERIOR | & P
PIT . 1/2" NOMINAL GLASS THK. el
R / r! |~ 1/8'TEMPERED GLASS = ==
3 i /. — AR SPACE § 2la
S S glolo
XK S ~~—1/8" TEMPERED GLASS zlolalB
o W FOAM CORE SN
3 % STEEL SPACER (POLYURETHAr\;E)\ : 513 3 %2 0
0O ¥ - ool |BZ] &
<% IE A ; EXTERIOR Q'SO SEALANT 3 % 3= 2
- 5 T ~ 2
=3 89 E LOW TACK SEALANT N o
S 0 EMINEE
=0
N SEE GLAZING DETAIL ! AR ERE
HARDWARE : : Lip Lite Insert Glazing ‘ Sl “1eBisIsls
TABLE BOTTOM RAIL ; IR
(WOOD COMP.) ™S NEEEE
N NENRRE
i SENNNE
£ e
() =]
b o
S B LR Aa] Ao 4
T oate: 7/03,/12
MASONITE ARDW, fe— 1.75" A.l scAE NTS.
Insert glazed
(fiberglass) owe. B:  JK
LATCH: KWIKSET SIGNATURE SERIES (991) onk. 8. LFS
KWIKSET ’ / 2\ VERTICAL CROSS SECTION BRAVING 0.
DEADBOLT: KWIKSET SIGNATURE SERIES (980/985) 2 TX—4166
SHEeT 2 of _/

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 insert Glazed\TX-4166-67.dwg, 2.3

© 2012 R.W. BUILDING CONSULTANTS ING.




Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 Insert Glazed\TX-4166-67.dwg, 3.3

STILE

(WOOD CO

MP.) ’\

INTERIOR

STILE

(WOOD COMP.) ‘\

17

16" EXTERIOR 1.6" -
/1 "\ HORIZONTAL CROSS SECTION
\3/
35.75" MAX.
PANEL WIDTH
#6 X 1-1/2" PH SMS
21" MAX ,
D.L.O. WIDTH GLASS BITE 1/2"
@ INTERIOR
3 172" NOMINAL GLASS THK.

A 1/8" TEMPERED GLASS
b /. — AIR SPACE
R ~~~—1/8" TEMPERED GLASS

x STEEL SPACER

o= =

A0 =0 1 EXTERIOR Q'SO SEALANT

<o 4 3 B

§ z 3 g LOW TACK SEALANT

{< o

ot - GLAZING DETAIL

~ Gl

A
oo ——

2L AANY L ETLAL VL AL LW

PLARAARA DNt

/A
/i

X 2114110111 T,

s —
I- JAH ]

NAR

MASONITE
Insert glazed
{fiberglass)

Lip Lite Insert Glazing

TOP RAIL
(WOOD COMP.)

FIBERGLASS SKIN

(0.075" MIN.) ‘\

INTERIOR

FOAM CORE

(POLYURETHAN

BOTIOM RAIL

(WOOD COMP.) ~

‘i 7

/1

i

/.

/4

1.7

EXTERIOR

L7

L 1.75" *-*’

7“2\ VERTICAL CROSS SECTION

3/

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.6598.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

SIDELITE PANEL DETAILS
(LIP LITE INSERT GLAZING)

LFS
LFS
BY

UPDATE 70 2018 IBC/IRC CODE

9/16/19 |ADD. "FusionFrame” OPTION &
11/07/18|REVISED TO INSERT GLAZED ONLY|LFS

11/26/13|ADDED ARTICULATING SILL

2 |10/25/16|ADDED THRESHOLDS/REVISED DP | LFS | PART OR ASSEMBLY:

1

4
3

NOJ DATE

REVISIONS,

oaTE: 7/03/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4166

SHEET 3 oF 7

© 2012 R.W. BUILDING CONSBULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 Insert Glazed\TX-4166-67.dwg, 4.3

oD D
: b
/ : 25, g
S L
b b hu O n oY
c e
/ / // 8§ Es32:
/ 4 // L
/ / / @ ]
/ ’ BACK-TO-BACK JAMBS: . §8° 54
4 ﬂ\ m " usionFrame” “FusionFrame" (1 OR 2-PIECE) ; o x ;g
< MULLION £ g “3 e °g
Cj \5/\5/ ¢ 502 %E
4 v & m oo 8 5
¥ O G ) INTERIOR pox2ize |z X BB
O 72\l @ g % WOOD SCREW : gk
4/l ofl” , (SEE NOTE 2) E R &8
#8 X 2-1/2" FH COURSE O] (]| ENDURA WEATHERSTRIP 3
THREAD DRYWALL SCREW (QEBD/PE 650) 3
/ ' /" / ‘ (SEENOTE 1)\ " ENDURA WEATHERSTRIP SIDELITE PANEL
v % Y DOOR PANEL (QEBD/PE 650)
/ / / e : % -
- gl ~ S 3
- 2 g A Py < = S
SN Rk < s
“ 2 o N
D > < q / E 3:9 5 % U(,%
#10 X 3" PFH o A
5 3N 1N 20 4 . WOOD SCREW |- »
CORNER PADS #8 X 1" PFH SMS WOOD SCREW o E
(TYp) @ &/ \ AN/ #8 X 2-1/2" PFH WOOD SCREW | DOOR PANEL LATCH SEENOTET) |3 5
#8 X 3/4" PFH SMS 4"HINGE =AER & g
/3" HORIZONTAL CROSS SECTION (“4™\ HORIZONTAL CROSS SECTION M
W Outswing shown - Inswing also approved W Outswing shown - Inswing also approved 1
-~—1.5" —— —1.5" —] ,3§§%
[}
wooD [ ) 4-3/8" FATBOY 4-3/8" FATBOY R o § .
™ LION PINE MULLION NI
\ PINE MUL \ \ RRIE2 |,
R T 1) L B
COMPOSITE INTERIOR #8X 2-1/2" FH COURSE EEHEENS
\ ; #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW Lg N (é’ = § u;_'
i 2 THREAD DRYWALL SCREW (QEBD/PE 650) 7 (SEE NOTE 1) ol 8IS |2
3 N F (SEENOTE 1) ENDURA WEATHERSTRIP Bl E|Z
<t \ ~r / 2
gl _ \ - DOOR PANEL (QEBD/PE 650) r g /SIDELITE PANEL <iSlalols
. N i : - =i | : olES|8|S
] ] N ; / 9( 5 BE: 88
D D \\ I’"’S\ pi = /,'/f//’/ff//.ff"i///»' &) ng 2 :‘3
- - = \&, Y| Joii; \ ~ LSS S ST N NENRDE
O 0 NE NN ) s SR
' \\ - ]
' o
- 25" / \ \ < mlw]-2
FATBOY MULLION MULLION SIDELITE PANEL ﬁx 1* PR SMS #8 X 2-1/2" PFH WOOD SCREW owTE: 7/03/12
PINE "Fusionframe" #8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH [s)we: N.Tj}(.
WG. BY:
; ) STRIKE PLATE
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR cHk. BY:  LFS
NOTES: DRAWING NO.:
1. Spacing for sidelite screws: 6.5", 38.5" and 69" from head to sill (3 total). m HORIZONTAL CROSS SECTION /3\ ggﬁzno’:g;% (-:I’rfs?'v'isns iJEIgZO’:’oved TX—4166
2. Spacing for mullion screws: 6" from each end plus 3 more equally spaced (5 total). \U Outswing shown - Inswing also approved \_/ 9 9 PP SHEEr 4 oF 7

@ 2012 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 Insert Glazed\TX-4166-67.dwg, 5.3

td
2X FRAMING 2X FRAMING G >= 0.42 STy “Q
- (6>=042) (G>=042) — e ] FOEEIR 8, B4
i - A N EXT. SHEATHING }{|/ o gl Mrini % e 20, 2l
EXT. SHEATHING /|| 4 e TN EXT. SHEATHING J i \ st Loiy g - EO
) ) \ DRYWALL i 18] \ ‘ 2, izi2 & %é § 8o 3z
o DRYWALL \ / » .| DRYWALL e{'} AT LSRR gk £to 29
4L - YU 42.5’5;‘,’... E% : ‘.._.;'3(( e a g " ﬂé
4387 o NN , 3 &@5}. f.'QQ;,w’ ZOB “o"‘_
#1114 ;’jiv': | #]0X2’]/2" PFH i #]OXZ‘]/Z'I PFH ' 11111{{;"\%3?::", a‘ 8 g g Eﬁ
hi ] WOOD SCREW s |} WOOD SCREW v 2%Z ul
174" MAX. W : \ §, § : § 20
SHIM SPACE | 1/4" MAX. ! i N ) § 592 gp
il o SHiM SPACE ™|~ T _ #10X 3" PFH G
¥ o ¥ e WOOD SCREW 2 =
58 SEE 1/4" MAX. E X 3
SHIM SPACE 00b0 Dﬂ:} g =
Qo
DOOR PANEL / \ T SIDELITE PANEL ~ \ -———i : DOOR PANEL .
o N HEAD: “FusionFrame" {1-PIECE) 9
HEAD: PINE . HEAD: PINE S
#8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP 5
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650) o
(QEBD/PE 650) (SEENOTE 1) \e 2 ®
I/ EXTERIOR INTERIOR 2 >l o
EXTERIOR W INTERIOR INTERIOR EXTERICR - - NOTE: S E RS
/ 1"\ VERTICAL CROSS SECTION / 2\ VERTICAL CROSS SECTION (3" VERTICAL CROSS SECTION ! Spacing for sidelte screws: 4 5
\\5/ Outswing shown - inswing also approved W Inswing shown - Outswing dlso approved \y Outswing shown - inswing also approved §'fomeachend (2total). | x| &
-5 L)
, : a >
2 <
a. a
g 555
1/4" MAX. 815
SHIM SPACE 1/4'MAX.  #10X2-1/2" PFH REIE N
#10 X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW 2[ola @
. JAMB: PINE e ; B|E|gl2l
0.75" 0.75" 0.75' DRYWALL JAMB: "FusionFrame DRYWALL EINIS ol
| _’ _ \ / / (1 OR 2-PIECE) / S331E|7 o
' e L INTERIOR \ ANAEEEE
R / LI SN / gég § '3 7
COMPOSITE clo = @3] |a
SNAP-ON #8 X 2-1/2" FH COURSE \ #8 X 2-1/2" FH COURSE SEREE |*
CAP THREAD DRYWALL SCREW THREAD DRYWALL SCREW SlElalE| S
S S el fa)
\ (SEENOTE 1) \ .(SEENOTE])\ QE§38
%5 olRPlulgia
< <<
E 1 . ,\ N TERE
SN 2X FRAMING 2X FRAMING NENBRNE
/ % LVL Z (G>=0.42) (G >=0.42) NEEEAE
O ! | Moy %
O ‘.‘ \‘ \“\““\‘.“\“\“\ S ———— DATE: 7/03/72
R S e L5 e \ SCAE_ N.T.S.
' SIDELITE PANEL SIDELITE PANEL ows. B JK
JAMB / HEAD JAMB / HEAD JAMB EXT.SHEATHING  EXTERIOR EXT. SHEATHING o o LFS
PINE B /“4 "\ HORIZONTAL CROSS SECTION /5 "\ HORIZONTAL CROSS SECTION e 6

2X FRAMING SERn LN

w Outswing shown - Inswing also approved w Outswing shown - Inswing also approved

SHEET 5 oF 7

© zo1z2 R.W. BUILDING CONSLULTANTS ING.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD} - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 insert Glazed\TX-4166-67.dwg, 6.3

— o A\ Y
% ENDURA
ENDURA DOOR /Y
EA?’?E’E DOOR SWEEP PANEL N DOOR SWEEP
AN (DBK-R)

/ (DBK-ZAC)

#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR TW CONCRETE SCREW

1"\ VERTICAL CROSS SECTION ("2 VERTICAL CROSS SECTION
W Inswing Adjustable Threshold w Inswing Arficulating Threshold

SIDELITE
PANEL

ENDURA WEATHERSTRIP

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/3" VERTICAL CROSS SECTION

w Outswing Bump Threshold

(111209

-SIDELITE. 7

PANEL \

-

#8 X 2.5" COURSE THREAD #8 X 2.5" COURSE THREAD —— 1L R4 »

DRYWALL SCREW DRYWALL SCREW :
(SEENOTE 1) {SEE NOTE 1) - 7 reROR
INTERIOR EXTERIOR —

#10 X 2.5" PFH WOOD SCREW OR 14X
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION
W Inswing configuration

P b

#10 X 2.5" PFH WOOD SCREW OR
2-3/4" ELCO OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION
\é/ Outswing configuration

Lyndon F. Sc;'amldt. P.E.

NOTE:
Spacing for sidelite screws:
4" from each end (2 fotal).

1.

o o H = '} =P = (=)
[ 456 ! [l 456 | ] 456" | f 456" |
INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3"} INSWING ADJUSTABLE THRESHOLD @ INSWING ADJUSTABLE THRESHOLD 5} INSWING ADJUSTABLE THRESHOLD
1 LAIL4565 2 ZAI4565FN ZAILAA4565 IAIAA4565FN ZAI4565RDS
Y37 = o Eo I ; E0
] 456" | [ 456" | 456" |
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 9" INSWING ARTICULATING THRESHOLD 70/ /NSWING ARTICULATING THRESHOLD
6 ZIACL4565 7 ZAC4565FN ZACAA4565FN ZACA565RDS

& &
= = S
bl 456" | bl 456 | } 456 |
@ OUTSWING THRESHOLD 12) QUISWING THRESHOLD 13) QUISWING THRESHOLD
IOBL4565 ZOB4565FN ZOB4565RDS

TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—-11852

VERTICAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS | PART OR ASSEMBLY:

LFS

LFS
BY

UPDATE TO 2018 IBC/IRC CODE

11/07/18|REVISED TO INSERT GLAZED ONLY | LFS
10/25/16 |ADDED THRESHOLDS/REVISED DP

9/16/19 |ADD "FusionFrame” OPTION &
11/26/13|ADDED ARTICULATING SILL

1

NO. DATE

4

MmN

REVISIONS

OATE: 7/03/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4166

SHEET 6 oF 7

@ 2012 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 Insert Glazed\TX-4166-67.dwg, 7.3

ui
= o HEAD ANCHORS: O o
O06% 2X FRAMING #10 X 2-1/2"WOOD SCREW [PINE JAMB) o *i g3 B
oy (BY OTHERS) #10 X 3" WOOD SCREW (1-PIECE JAMB) X o Ex & i3
3°3 ! 2 JAMB ANCHORS: Zav iz S0 ¢B &°
s 9 ﬂ (1YP) g L #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) . %}w igi oo 2 5 Gu
z == = ey (TYP.) l [“ #10 X 3" WOOD SCREW (1-PIECE JAMB) goi A ] 5‘% g =S 3
- : G izl 2 8o 33
- T 1 TR 1 7T 1 1 i G, i1 57 B38 gE
|~ SEEHINGE B 4T Qs 2 g > f@é
T B3 DETAIL 1 o Gprist 5 8%, 2g
i ? SEE DETAIL 1 . = Z Vit .S ¥
g & 9, = 3 235 b
N 2 § 95580
5 570 £ Bos 2k
- : B g L ) § o
= o £ E
@ i II g gu
3 J_ ] | | \ | E K BB
B3 2 - #8X2-1/2'PFHWS | §
. : m o L1I o) -
SEE HINGE I ; 7° HI%S <
DETAIL 2 B SEE STRIKE A o #8 X 1" PFH WS 4:, ool "I #8 X 3/4" PFH WS
—_— PLATE DETAIL w3 . 4" X 4" HINGE )
SEE DETAIL 1 o B " =
] S E \ S
iy g | %
N * HINGE DETAIL 1 ST e =
i LG I INL I ; b3 w
i D~ | } \
. - L
SILL ANCHORS: | #8X2-1/2'PFHWS |G 5
#10 X 2-1/2" PFH WOOD SCREW = BRE e
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING 174X 23/ FLCO OR STRIKE JAMB :0 | '3 & &
ITW CONCRETE SCREW SIRIAE JAMD "PEH W é =] i )
HINGE JAMB CONCRETE (MIN. 3000 PS) OXO #BX1"PFHWS <=0 1) ®I==t= 48X 3/4" PFH WS ol Telelel
WOOD (G >=0.42) " 4" X 4" HINGE
\ LQU 5 a
A o 8 S o
Q
DEADBOLT STRIKE HINGE DETAIL 2 S 3
JAMB NOTES: #10 X 3" PFH WS PLATE Et; gé g 2 .
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. Wlol|812] 1B
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. #8X 2-1/2" PFH WS Elolslals| @
LATCH STRIKE sSRI2IES| 5
INTEGRAL MULLION NOTES: PLATE Eiolo€2 o
THE FATBOY PINE MULLION, “FusionFrame" MULLION, OR THE "Fusionframe” BACK-TO-BACK Bl | E|%
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. STRIKE PLATE DETAIL S5 Aals
CONCRETE ANCHOR NOTES: : - SEHEE
1. Concrete anchor locations at the corners may be adjusted to maintain the min. 410X 3" PEH WS ; = T
edge distance to mortar joints. . #10X 2-1/2" PFH WS 4 PLCS NENNGE
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 48X 2-1/2" COURSE ( ) S| |SIRlSlz
maintain the min. edge distance to mortar joints, additional concrete anchors THREAD \ S } § E fa
may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded. DRYWALL SCREW C S
3. Concrete anchor table: N R - R - ® - HMNTIZ
e [y > D~ N I N oaTE: 7/03/12
& % Egj ole SCALE: N.T.S.
— V = owe. BY:  JK
’Tw " " . :
TAPCON® | 14" 1-3/4" 11/ 4 DETAIL 1 DETAIL 1 DETAIL 1 o o
FICO INTEGRAL MULLION ATTACHMENT  INTEGRAL MULLION ATTACHMENT INTEGRAL MULLION ATTACHMENT X166
®f 1/4" 1-3/4" 1" 4" PINE MULLION "FusionFrame” MULLION “FusionFrame" BACK-TO-BACK JAMBS
ULTRACON SHEET 7 OF 7

@ 2012 R.W. BUILDING CONSULTANTS INC.



